Monday Assess reminder:

b
I-U4: Applying FTC 1 (front of worksheet, #1-8) ‘ 4‘( )(l
TR k) CX¥

I-U7: Definite integral properties (p. 274 hw) b— A
I-A7a: Average Value (p 288 hw)
I-Adb: Area Between Curves (worksheets)

A

Last call for scantrons! We will
be going over it later today!!!



Area Between Curves HW
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AB5 no calc (flip side of the water tank problem)f

.Fu,u_ The graph of the functlon Jf shown above consists of a
: semicircle and thre e segments. Let g be the function
s
f t

X 8 ()= 0
(a) Fm an g (0) 3
.Fmd all values of x in the open interval (-5, 4) at which

g attains a relative maximum. Justify your answer. -
(4,-1) (c) Find mg on the closed

interval [-5, 4]. Justify your answer.

+ given b Y_g(x)
O.1 .21

/ (d) Find all values of x in the open interval (-5, 4) at which
Graphof f = 3 the graph of g has a point of inflection.
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2003 Test
Most commonly missed: 3, 9, 20, 22, 27, 28



A) f(0)=3

B) f(x)#3forallx=>0

C) f(3) is undefined.

D) limy .3 f(x) =
imx_,m@ =3




9. Iff(x) = In(x+ 5+ e ), then f'(0) is C kmi"‘
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x+2 ifx<3 _C¥5
fx) = [ e ‘F (73 = / '
14.t~7 if x>3 _
5 *)*
20. Let f be the function given above. Which of the following statements about fis false? Lt
b

. . v
L lim f(x) exists v 4 Rouh (N2 /4 "
II. f is continuous at x = 3. /@a'\éﬁ N‘C" (’ \ol lﬁb

ML f is differentiable at x = 3. X || h + 5m0°¥h

A) None
B) lonly

C) llonly
@ Il only
I and Il only
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22. Thegsaph of £ the derivative.af f. isthe line shown in the figure abov (O)*)
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27. Let f be the function defined by f(x) = x* + x. If g(x) = f~1(x) and g(29) = 2, what is "Derlu
the value of_g'(!)?
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28. Let g be a twice-differentiable function @' . or all real numbers x,.such
that g(4)=12 and g(5)=9. Of the following which is a possible value of g(6) ?
—
9 dec- 4o
q =

J 1\

=
=)

|




10 minutes to look over and discuss ones that you
missed, make corrections, talk about it with your table
and classmates and/or me.

Feel free to move around, help each other out,
and collaborate.



2003 Yes Calculator section!

Skip #86 (don't know how to do it yet)



Homework:
- Assessment on Monday; study, look over related hw!
- Work on AP test practice; due Wednesday



